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hat M and L were chosen appropnately, What is
“hine where this implementation will be deployed? Give an ]
q,short justification based on two equations using the parameter val

The three equations you will need to use are:
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Where p is the page size in bytes, k is key size in bytes, ¢ is pointer size in bytes, a
v is value size in bytes. Think about where these values come from
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. Does this more benefit arravs or linked lists?
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3. What about Java makes 1t a po r choic e
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4. Provide and justify the bigO memory analysis for AVL insertion?
Remember, what needs to be kept track of
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